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Algebra | Unit 5 Compare Quadratic and Exponential Functions

Name Date

Two nature parks opened the same year in neighboring towns. Park A’s &
attendance can be represented by the equation y = 3x2 - 10x + 10, and Park B's
attendance can be represented by the equation’y = T.8<- T, Whete x represents
the number of years since opening, and y represents the attendance in
hundreds. Tables and graphs for both parks are shown below.

Park Attendance
350
Year | Park | Park B CRE
. T 'g 250
1 ] 3 0.8 £
| 2 SN\ R0 g
3T ~7 . 45 E 150,
4 18 9.5 g
5 | 35 | 179 B
6 | 58 | 330 g w0
/7 | 87 |+ 66.2 -
8 l-i22 l-1pe ’ "
9 163 197.4

1. Inwhich years does Park A have the greater attendance?
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( 24\ In which years does Park B have the greater attendance?

3. Describe how the functions are different.
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Name ' _ Period Unit 5 Review

_Use the figures to answer each question. There is one quadratic, one e ponential, and one linear

unction. QN\M
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1] Which figure shows an exponential function? 2) What is the equation for this function?
Hint: Itis Qre{g]\’r function with no transformations.
E;)"

j:‘f&L

.
Exponential Function: "'A . Equation: uf - { (3 )
3) Which figure shows a linear function2 4) What is the equation for this function?
3*:: Ak +io
Linear Function: G Equation: _U = |BX— lo

Fnme kA0 ) = (2 4Hen-18
= 2 18 tn-1) B

5) Which figure has the highest value when x = 62 6)Which figure has the lowest value when x = 62
A.729 8.3 .oz

Highest Value Function: A : Lowest Value Function: &'
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7} Which figure has end behavior of “As x — —, y — "2 B

What is the end behavior for the other two functions when x — —c0?

8) T%e E: )ﬂ»‘ (7[\) function has an end behavior of As x — —c0, y —
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9) The L near (; f> function has an end behavior of As x — —c0, y —
Directions: If f(x) = 3x - 10 and g(x) = 3(x - 4)2, find each of the following. (M

10) Which is greater at x = 42 N9
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1) A population of 20 bugs are living under a log. ‘Each day, 5 more bugs join the bug
party. If Lucy finds a bug spray and uses it on the 10t day, how many bugs will she eliminate
under thislog? | (s \WAe pen s o |
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12) A population of 8,520 termites are living in a mound, but they caught a'common cold.
Every day they are !osing{"@};f the previous day’s population. How many termites will there
be by the end of the 5 day?2 .
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